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= 2,490,000 x1H +x12& 29,880
= 14,940
Al 4,481
- 10,459
2,600,000& x5H x12& 156,000
= 78,000
Al 23,400
- 54,600
2,700,000 x1H x12& 32,400
= 16,200
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Al 693
- 1,617
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03 RIAHAZ2E = 496,023 446,478 49,545
DASEHZAALSTAY S2ASA A5
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20123 311,776
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Al 24,652
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Al 28,313
7z 2,409,970& x1H «12& x102.6% 29,672
Al 29,672
395 = 2,600,800 *3H x12& x102.6% 96,064
Al 96,064
3102 2,702,130& *»4H «12& x102.6% 133,075
Al 133,075
2)H & F oty 25,984
3)3z 2 2,002,200& *1H x102.6% 2,055
Al 2,055
365 = 2,299,5503 1 x102.6% 2,360
Al 2,360
7528 2,409,970& «1H x102.6% 2,473
Al 2,473
395 = 2,600,800 *3H x102.6% 8,006
Al 8,006
310s = 2,702,130& *4H x102.6% 11,090
Al 11,090
)Nzt 2ReY 45,818
3)35 8 14,7953 *20Al 2F+ 1 122 *102.6% 3,644
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3)65 8 16,9332 *20Al 2F* 1 122 x102.6% 4,170
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3788 17,7272 *20A 2t 1 128 x102. 6% 4,366
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3)95 &2 19,099 *20Al 2F*3%H * 122 *102.6% 14,109
Al 14,109
310 =S
19,8273 20 Al 2t x4H «12& x102.6% 19,529
Al 19,529
2)H X 6,110
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